The Straight Line

Please show all your working

1.
Write down the gradient and y – intercept of the following lines: 

(a)
y = 2x + 4
(b)
y = x + 2
(c)
y = ½x – 3


(d)
y = 9
(e)
x = -3
2.
Write down the equation with:


(a)
gradient of  ⅓ and cutting the y axis at 3

(b)
gradient 5 passing through the point (0,0)


(c)
gradient 1 and y – intercept -1
3.
Write down the equation of these lines:


4.
Sketch the graphs of the following line y = x + 3


5. 
Write down the equation of the line connecting the points A (2, 3) and B (6,1)

6. 
Where does the line 3y = 6x – 21 cut the y- axis?
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